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do{
scanf ("%i", &yy); 1994
n =yy%?12; 1994 9% 12 — 2
if (n==0) printf("/&\n");
Iwhile(1);
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int mm, dd, zod;
scanf

zod =

if ( ) zod--;

if(zod==0) ...

if (zod==1) printf ("~<¥i\n");
if (zod==2) printf ("<51\n");
if (zod==3) printf ("} 1= \n");
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int mm, dd, zod, day[13]
char zodiac[13][5]

while (!feof(fp)){
fgets(s,100,fp);
days|[i]=atoi(...);
zodiac[i]

}

printf ("%s\n", zodiac[zod]);
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e
ms, age, gender

#include<stdio.h>

#include<ctype.h>

char ms='S’', gender="M’;

Int age=18;

main(){
printFC IS (M/S): ™);
printf("EE ")
printf(CIERI(M/F): );

}
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if(ms=="M"){

// L';‘zﬁ'M'

if(age>=20)
printf("'< i \n");
else
printf(" 1< KN\N");
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}else{

¥
printf("'\n");
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36. X% fli (i@ Motor Insurance Heo fE: 10000
= 3000
1. Hiift estimated_value () 2
ncd = 30%
2. H{pEIE Icoverage ik ) P = $7571
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1 5= ?%:F‘hi = e
3. ﬁi—ijfﬁ%ﬁ type of engine / capacity
0 +8600 8.4% 1,650c.c. ﬁ?J‘P\
1 +9500 5.5%  1,650c.c. = 3,500c.c.
2 +9700 5.8% 3,500c.c. I'] &
4. I [P (No Claim Discount)
Sk S BT ned L
- 20% estValue
U 30% capacity
G = 40% engType
g U 50% year,_ncd
TR 60% premium, p
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5. = & {HH"Y premium
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=i "'Fﬁ'%(O)
p=fiffix8.4% f% 1000 (Vik %)
A% = $(p+8600) x (1-ncd) x 1.03

AL
p=Hiffix55% 5 1000 (Vi %)

FUEHH(2)
p=Hiffix5.8% 5 1000 (it %)
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Wi = $(p+9500) x (1-ncd) x 1.03

Wi = $(p+9700) x (1-ncd) x 1.03

7% = $5000 x (1-ncd) x 1.03




